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& B 98.0 100.0 102.5 104.6 106.4 108.6 1113
E # 98.1 100.0 103.7 108.0 110.8 113.7 115.1
BOEOE R - M ORF 98.1 100.0 101.5 101.6 102.4 104.0 107.8
X b S B 100.6 100.0 94.0 85.6 83.1 82.5 84.3
s o« # 2 R | 100.0 100.0 94.3 86.2 83.6 82.8 83.3
21 = (A 100.0 100.0 92.7 83.4 81.4 79.4 78.7
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B f0 56 F B 92.0 5.0 91.5 5.1 92.1 4.4 92.1 5.5
57 94.5 2.7 94.1 29 94.3 2.4 94.2 2.3
58 95.8 1.4 95.2 1.2 95.9 1.7 95.5 1.4
59 98.0 2.3 97.7 2.6 98.1 2.3 98.2 2.8
60 100.0 2.1 100.0 2.4 100.0 2.0 100.0 1.9
61 100.6 0.6 100.5 0.5 100.5 0.5 100.5 0.5
62 100.7 0.1 100.6 0.1 100.8 0.3 100.5 0.0
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10 109.3 4.7 108.7 2.9 108.7 3.5
11 108.4 4.3 108.2 3.7 108.2 4.2
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